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Time : 2 Hours
Cool-off time : 15 Minutes

Second Year — JUNE 2017
SAY/IMPROVEMENT

Part — II
COMPUTER INFORMATION TECHNOLOGY

Maximum : 60 Scores

/General Instructions to Candidates : \
® Thereis a ‘cool-off time’ of 15 minutes in addition to the writing time of 2 hrs.
® You are not allowed to write your answers nor to discuss anything with others
during the ‘cool-off time’.
® Read questions carefully before answering.
® All questions are compulsory and only internal choice is allowed.

When you select a question, all the sub-questions must be answered from the
same question itself.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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The wheel located between the two standard buttons on a mouse is used to

(a) click on web page (b) shut down

(c) click and select items (d) scroll

(a) Do you need ink for Laser Printer ?

(b) Justify your answer.

“A computer peripheral or peripheral device is an external object that provides input

and output for the computer.” Name any three peripheral devices.

What is the use of ports ?

Which of the following best describes EPROM ?

(1) EPROMs can be programmed only once.

(2) EPROMSs can be erased by ultraviolet.

(3) EPROMs can be erased by shorting all inputs to the ground.

(4) All of the above

What is the difference between Memory and Hard disk ?

Explain cylinder, tracks and sectors.

OR
Differentiate Static RAM and Dynamic RAM.
(a) What is Cache Memory ?

(b) What is the advantage if a processer use more Cache Memory ?
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1. 2a9rl@3 esne’snigem38)es nswilenss all@d Dalcouilenan®’

(a) click on web page (b) shut down

(c) click and select items (d) scroll (eapod : 1)
2. (a) Laser (xladolm’ink @oyaivoymeensd ? (epod : 1)

(b) 20O MVARDLIBN)B:. (eapod : 1)
3. “Input-Mjo output-Mjo caIMEl DalcoUlenam ) external object @rem peripheral

@oLoa1d peripheral device.” ago@aslele aam peripheral device-0a3 calO@9)®).

(capod : 1)

4. Port-003 9a1c@ono af)a® ? (capodav : 2)
5. ®20% al0@amalled EPROM-0 aggaije @omM)cmosiad@® i@ ?

(1) EPROMs can be programmed only once.

(2) EPROMSs can be erased by ultraviolet.

(3) EPROMs can be erased by shorting all inputs to the ground.

(4) All of the above (eapod : 1)
6.  Memory @) Hard disk £ @olenss a1y@oave ag)am ? (capodav : 2)
7. Cylinder, tracks, sectors af)amlain@«endla] aflaid]ee)d:. (eapodav : 3)

@ROEI B3] 03

8. Static RAM-ema)eo Dynamic RAM-6mM@)o @000 61210Q))6:. (capodav : 3)
9. (a) CacheMemory a)amo@3 af)am ? (eapod : 1)

(b) &) processor-@3 )S)M@3 Cache Memory 9al1c@ouila|Ienss 1)eMo af)ao ?
(capodav : 2)
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12.
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16.
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The two important fields of an instruction are

(a)

opcode (b) operand (c) None

Write any two opcodes.

(d) Both (a) & (b)

(Score :

(Scores :

“A processor is popularly called computer’s brain.” What are its main functions ?

(Scores :

Kiran’s computer system has a 32-bit processor and Balu’s computer system has 64 bit

Pprocessor.

(2)

Which is better ?

(Score :

(b) What characteristic of a processor is represented by the terms 32 bits and 64 bits ?

A CPU fan is placed in a system. Give reason.

AGP stands for

and PCI stands for

The three relations are given below :

(1)
)
€)
(2)
(b)

Student (rollno, name, age, sex, place)
Attendance (rollno, name, no_of attendance, month)
Fees (rollno, name, month, fees paid)
Is there any redundancy in the above three relations ?

What do you mean by redundancy ?
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(Score :
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10. &0 instruction-ac@ QNE (AIWIM LIS HHE0BS6M

(a) opcode (b) operand (c) None (d) Both (a) & (b)
(ecapod : 1)
11. ago@sslene eme opcode-ud ag)e1m)d:. (capodav’ : 2)

12, “Processor af)an®  computer-0a3 brain @R@Ig0em" @OIWe|SIAN®.” @RGIHOS

functions agai ? (capodav : 2)

13, #losmilead computer 32 bit Ga1oquqROle snIoealead® 64 bit eaI1dauguO@06eMm.
(@) oo Ao ? (ecapod : 1)

(b)  e@IaVEROIOM aB® TVANEVH®®EM 32 bit Do 64 bit Do AV)a lafleman@?

(ecapod : 1)
14, afiguomlmaoem 3oy CPU fan 9me. @odilond @yalvoyd® of)am ? (capodav : 2)
15. AGP agyamom3d 9o PCI ag)ano@3d o @Y. (capodav : 2)

16. mamnrelations ®oey @aV@lenaM] :

(1) Student (rollno, name, age, sex, place)
(2) Attendance (rollno, name, no_of attendance, month)
(3) Fees (rollno, name, month, fees paid)

(@) 2HSGB O30S OBIEENIN MAN OleelauM)dx1@d redundancy ©cesmeo ? (¢apod : 1)

(b) Redundancy ag)amo@d ag)am ? (eapod : 1)
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17.

18.

19.

20.
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“Databases can ensure data security.”
(a) Areyou agree with this ?

(b) Justify your answer.

Complete the following table :

P Q P&&Q | P|Q 'P

True True

True False

False | True

False | False

The various data storage classes in C++ are

(Score : 1)

(Score: 1)

(Scores : 3)

and

Consider the following functions :

int operate (int a, int b)

{
return (axb),
}
float operate (float a, float b)
{
return(a/b),
}

(a) Which feature of C++ do you observe in the above functions ?

(b) Write a main( ) function using the above two functions.

6

(Scores : 2)

(Score: 1)

(Scores : 2)



17. “Database-2gl@8 data security 90aogmnam).”
(a) @IemIs caeflen)am eeneo ? (eapod : 1)

(b) 200 MO BHALN)M. (ecapod : 1)

18. @261y 6305)01M@lE9)aM table al)@lafleo)d :

P Q | P&&Q | P|Q | P

True True

True False

False | True

False | False

(eapodav : 3)
19. C++ eel aflaflw data storage classes , , , ag)anilal
@Y. (capodav : 2)

20. @28 a10@)aM function-dud alBlWETI &) H:.

int operate (int a, int b)

{
return (axb),
}
float operate (float a, float b)
{
return(a/b);
}

() Ct++ o008 ag® avallcUoat @M NS 6PIS)EMNBleman function-,3

aV)a Naflesyano. (ecapod : 1)

(b) M&Eled maBlen oM function-Bud 9alecwUila) 8oy main( ) function ag)$}@)d:.

(capodav : 2)
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22.

23.

24.

25.
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Define object and class. (Scores : 2)

Define a class cylinder in C++ with
Data members :
radius
length
Member functions
(1) to assign a radius and length to an object.
(2) to return volume of an object of this class (v = nr*h)

(3) to return surface area of an object (SA = 2nr (r + h) (Scores : 4)

OR

The category of Car and Bus acquires some properties of vehicle category.

Vehicle
Car Bus
(a) What characteristic of C++ can explain this feature ? (Score: 1)
(b) Explain the role of visibility modes in forming such classes. (Scores : 3)

How can a non-member function be allowed to access private data members of a

class ? (Scores : 2)

“Constructors cannot be overloaded.”
(a) Are you agree with this ? (Score: 1)

(b) Justify your answer with an example. (Scores : 3)



21.

22.

23.

24.

25.

7014

Object-90 Class-9o define 621Q)d. (capodav : 2)

Cylinder ag)am class C++ @3 define 6)210Q)).
Data members :
radius
length
Member functions
(1) to assign a radius and length to an object.
(2) to return volume of an object of these class (v = nr*h)
(3) to return surface area of an object (SA = 2nr (r + h) (capodav : 4)

ma%wﬂ«ﬁ

Car, Bus agyamilal vehicle-0a3 afler avafleuoau @03 9880106m.

Vehicle

Y N

Bus

Ca

(@) CH++ea ag® aVallceu®®ITM @ aV)allaleamM® aan allaidlens ?

(capod : 1)
(b) emamwss class-&H03 form  621QAIIMIV]  Dalcouileman  visibility

mode-&ud a@al ? allalc]ee)d:. (eapodav : 3)

80) non-member function-m’ private data members-6m ag)sTBOM access 6211003

alQo ? (capodav : 2)

“Constructors overload ea1)01003 a1gle).”
(a) oenud NGIemIs coedlen)a)caneo ? (eapod : 1)

(b) 9820006M ALaGImo TVABRBALN)B>. (capodav : 3)
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When a program creates a derived class object, it first calls the class

constructor, then the class constructor. (Score: 1)

Match the following :

(1) Default Inheritance | (a)  Reusability
(2) Derived Class (b)  Overloads function names

(3) Protected Member | (c) Private

(4) Polymorphism (d) Nodirect access in derived class
(5) Private Members (e) Requires base class
(6) Inheritance (f)  Accessible in derived class

(Scores : 3)

Write a program to create a file which contains some integer values. Read the file and

print number of positive numbers and negative numbers in it. (Scores : 4)
OR

What are the errors in the following statements ?

(1) if stream.fin(“Main”);

(2) fin.getline( ); — fin is input stream

(3) if(fin.eof( ) ==0) exit (-1);

(4) close(fin), (Scores : 4)

In C++, there are two types of files that you can use to store data, binary files and text

files. Differentiate these. (Scores : 2)

10



26. &0) program derived class-@3 object create 6a1Q)EMI0MB @)YBYe class

27.

28.

29.

30.
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constructor-9o afloam class constructor-go @yem call daigan®. (eapod : 1)

Gal®)oalS] Cal@HN)D

(1) Default Inheritance | (a)  Reusability
(2) Derived Class (b)  Overloads functions names

(3) Protected Member | (c) Private

(4) Polymorphism (d) Nodirect access in derived class
(5) Private Members (e) Requires base class
(6) Inheritance (f)  Accessible in derived class

(capodav’ : 3)

>)0a] integer values eaigpolomas file create 621Q @@ Tl ©a1Q" af)(@®

caldmilglal mmine af)(@ emwglal MmMIO} DA print 621Q}0I0M8H E@I1dW%0

af) ). (capodav : 4)
@REEIB]M3

®06¥ alOW)AM statement-»@)OS O®YPNHUB agal ?

(1) if stream.fin(“Main”);

(2) fin.getline( ); — fin is input stream

(3) if(fin.eof( ) = = 0) exit (-1);

(4) close(fin), (capodav : 4)

C++@d data store ©a1Q0I0Mo] 0’ eeSq| file-3B Qalcwouwlesan). Binary

file 9o text file 9o. NAUIO® GOODDYo 6121 (capodav : 2)

11
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